28/06/2016 College Lecturer Exam - Economics-|

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Economics-1I Time: 3 Hours

Ques # :1

What is meant by expansion in demand ?
1) Shift in demand curve

2) Shift in supply curve

3) Movement along the demand curve

4) Increase in income

AT A RAraR A FAT AT 2
1) Hiar a5 &1 faade

2) qfet a5 o faacieT

3) Ffer Gk I Telel

Y s A iy

Ques # :2

Who has given a new approach to the theory of demand in terms of Bandwagon Effect, Snob Effect and
Veblen Effect ?

1) P. H. Douglas

2) R. Triffin

3) J. T. Wenders

4) Harvey Leibentein

J=391a worrg, TG WHHTE TAT AToleT THTT & Tesl H AT & Rgia Y 7 surear Faa fr g 2
D &, w1, st

2) 3. ReftheT

)X &=y

4) gt =i

Ques # :3

The Snob Effect is related to which commodities ?
1) Prestigeous

2) Exclusive

3) Necessities

4) Both Prestigeous and Exclusive

FoAre yoTe e avq @ wrafeua g 2
D) grAass

2) fafarse

3) 3tforart

) FFEATToTeTe T fafrse gt

Ques # 4
The situation, in which change in consumption of two commodities due to change in their relative prices, the
total utility remain the same, is called :

1) Price Effect
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2) Income Effect
3) Substitution Effect
4) Veblen Effect

o7 3t avat & s ¥ 3o WA et F g3 aRadl & FRor aRade gvar ¥ freg T
39Afarar A @l B, 50 Rufa st aarwgd €2

D) Aoz gomma

2) 3T g

3) yfaeargsT werma

1) deorT AT

Ques # :5

In Slutsky's substitution effect, where does consumer move ?
1) To higher indifference curve

2) To lower indifference curve

3) To same indifference curve

4) No movement

TACEHY & FFATYTIA 31T & 3usierar fhe Rufy aRade sward 2
D 39 serdfiearas w

2) AT SerdeTar 95 W

3) 3¢ 3ereTar g% T

4) S Tt 6T

Ques # :6

The cross elasticity of demand for complementary goods would be :
1) Infinity

2) Positive

3) Zero

4) Negative

Qe FEGIAT Y AT HY 3T A gieft 2
D) 3ea

2) geTTeHe

3) o

RENITED

Ques # 7

The situation, in which people are unwilling to make bets, inspite of their higher winning prospects when they
bet more money, is called :

1) Theory of Second Best
2) Pareto optimality

3) St. Petersburg Paradox
4) None of these

3w Feufar wt #ar FE S« ey 3= gfa sitas & Ao sraas g & a1g off gl oore & geg a1dt
a2

D gfacha sa 1 Rigid

2) Qe IreThedH
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3) Qe fred §91 faRemam
) goTdt A P TGS

Ques # :8

Which one of the following is not associated with behavioural theory ?
1) Firms aim to achieve satisfactory level of profit

2) Search activity does not involve any cost

3) Each firm has an aspiration level

4) If aspiration level is unattainable, firm starts search activity

foreT & ¥ Fie7 9T v cuaER Rigia @ grafrua gt 2

1) At &1 3227 HarwoTeTer T T ST 9Tod ST BT & |

2) @Y ST T RIS ST e Bl ¥ |

3) YAk Wal T ek TS TAT BT S |

4) FfE 3TeRTeT3it s T 39TCT ¥ Y B @ieT 3T AIRFH FedT ¥ |

Ques # :9
Which one of the following is the formula of elasticity of factor substitution ?
D d(K/L)/(KIL
d( MRS k) /MRS5S
2) d(MRS )/ (K/L)

d(K/L)/(MRS)
3) d(K/L)/d (MRS)

d(MRS)/(K/ L)
4) d(MRS)/d(K/L)

(K/L)/MRS

T ¥ Fi @1 v Wrue AR A AT FT AL |
D d(K/L)/(K/L)

d( MRSk )/ MRSk
2) d(MRS)/(K/L)

d(K/L)/(MRS)
3) d(K/L)/d(MRS)

d(MRS )/ (K/L)
4) d(MRS)/d(K/L)

(K/ L)/ MRS

Ques # :10

Following are the economies of scale : (1) Technical economies (2) Labour economies (3) Economies of
Concentration (4) Managerial economies. Which of these are internal economies ?

1) 1&2
2) 3&4
3) 2&3
4) 1,2 &4

o Y T AT & - (1) AR T2 (2) HH A T (3) eI IHI0T Y T9d (4) TouhT 94 |

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/95-Economics-l/sesspack/qpimages/QP_95-Economics-1.html 3/44



28/06/2016 College Lecturer Exam - Economics-|

sAA A FIT A HaARF TTS & ?
) 1&2

2)3&4

3) 2&3

41,2 &4

Ques # :11

Pain, fatigue, sacrifice, monotony felt by the factors of production during rendering their services is called ?
1) Real cost

2) Opportunity cost

3) Implicit cost

4) Private cost

3cUIEA & WIUET aRT F & THI HEHH 811 aTell THelIb, YT, AT TUT THIHAT P FEA ¢ :
D) areafas amra

2) 3 AT

3) fafea amrd

4) frSf et

Ques # :12

Who has classified economies of scale into internal and external economies ?
1) Pigou

2) Keynes

3) Marshall

4) Pareto

Rireret $Tat Y rerelt Y TR 7 aTed aual A aeffga R
l)tﬁgl

2) feg

3) Arefer

4) ¥y

Ques # :13

What is the value of elasticity of substitution between two factors for cobb - Douglas production function ?
1) oo

2) 1
3) 0
4) -1

FI - SACH FcUIG BelsT A &) AT & AT IATUTI Y AT FI 7ed FATAT & ?

1) oo
2) 1

3) 0

4) -1
Ques # :14

which one of the following statement is not correct for CES function ?

1) The CES function consist of four variables

2) The CES function is homogenous of degree one

3) The CES function can be extended to more than two inputs

4) The CES function covers constant, increasing and decreasing returns to scale
file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/95-Economics-l/sesspack/qpimages/QP_95-Economics-1.html 4/44



28/06/2016 College Lecturer Exam - Economics-|

e & @ i 91 v FyT U 9FAEATIs d 3cUTe BeoleT (CES) & Hegel & 3T ¢ 2
D) feer gfaeurdst o thefed H AR T A & |

2) 12 wiAEATTsT ol beteT f33f Ueh & AET g & |

3) &R STaEUTao ol $ofeT ol 3MeT3it deh faTar e Heha & |

4) TR wfaeUTIsT dra Wale 7 8N, IREGHTT AT GTHATH FATS & TicTthel el g1 & |

Ques # :15

Which one is incorrect for Nash equilibrium ?

1) There are more than two players.

2) Each player adopts his best strategy

3) No player has an incentive to depart from the equilibrium.
4) Each player plays independently

FleT /T U T AeelereT & T rwea & 2

D ar & 31 f@enfeat (wfasnfaat) srger

2) g TRTSY 39t Fafed T &1 3r9aTar |

3) et FRreITEY & T FercTorel & 37T €1t Y SR o7t A &
1) g T@eITer Tades 9 0 Yol |

Ques # :16

How an increase in the fixed cost of a firm, under perfect competition, would affect price and output in the
short run?

1) Output rises, price falls

2) Output falls, price rises

3) Output and price both remain same
4) Output remains same, price rises

got i e & sreceta v wet it TR amera #r g sreuster 7 3cd1ee T 7o & 7R TER
yeTfad Feft 2

D) scarest # gfe g, 7o e |

2) 3cUTes A g1, Hed 9397 |

3) 3cUTEsT TUT Hed gl FE2R W |

4) 3edTesT FEUX T, Ao agdt

Ques # :17

When the monopolist is able to sell each separate unit of output at a different price, it is called the price
discrimination of :

1) First degree

2) Second degree
3) Third degree
4) None of these

9 TFHIAFRY IcqTEeT Y TeAF SHFE B AT AT WIaF A gAT g arsq Fgad,
1) gera 3721 o1 i Tasig

2) gfadir 3ier &1 FrAd e

3) el 3721 o7 1A AR

4) 39 | IS AET
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Ques # :18

When a very large or dominant firm establishes its leadership by following aggressive policies, it is called

1) Barometric price leadership

2) Aggressive price leadership

3) Demonstrative price leadership
4) Exploitative price leadership

ST U ST 991 AT 4 B U= ITHAS ANfdl & HROT FTF HT aAc[cd TS T A<l ¢, 99§
___ #EAE|

D) ardrsarea ar argem fea aqgea

2) IMEHATER Hed AT

3) SEeieeRd Hed Adqed

4) MUt HeT Aded

Ques # :19

The marginal condition for a Pareto optimal composition of output requires that _ between any two
commodities be equal to the  between the same two commodities.

1) MRTS, MRTS
2) MRS, MRPT
3) MRTS, MRST
4) MRTS, MRS

WY iy HioTea et & AT 3maegs o § 3earest #7631 39 YR 81 fF af awqait & #ex

301 At aEGHT F ALY & T |
1) MRTS, MRTS

2) MRS, MRPT

3) MRTS, MRST

4) MRTS, MRS

Ques # :20

The final marginal condition for a welfare maximum is based on :-
1) Marginal product

2) Marginal rate of Technical Substitution

3) Optimum Conditions of product substitution

4) Optimum income

HAFIH Feamor 1 Irfead AT od FT W maRa g 2
1) drared 3curg ©w

2) gepeTrehY SfETgsT & EiHATd &Y W

3) E HTATATIRT &Y HeTheld# G2 R

4) 31T I R

Ques # :21

Externalities are also known as :
1) Spillovers

2) Neighbourhood effects

3) Untraded interdependency

4) All of these
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SrEganit M Ig M Fga g ?
1) gger a1 thorey &7 9o
2) qg1g & g
3) 3 - eI R
1) s g aeh

Ques # :22

The theory of games was developed by :
1) Bertrand and Morgenstern

2) Neumann and Morgenstern

3) Cournot and Neumann

4) Neumann alone

T & RAgIT F1 wfauresT s fFar a1 2
D) stee= aur A

2) s FUT ARATESE

) aett T S

4) AT e

Ques # :23

Which of the following is the compensation criteria ?
1) The Kaldor - Hicks criterion

2) The scitovsky criterion

3) The little criterion

4) All of these

ot F & ey i arforgfel Rrgia 8 2
D Fie2k aur e 1 fRgid

2) HeraEhr 1 Rgid

3) fafee & AT

4) gorat & o

Ques # :24

While criticizing Social Welfare Function, Robertson called it :
1) Vast, partly coloured Mathematical ballon

2) Right, not very useful

3) Completely general

4) Arbitrary and imaginary

mwmﬁmm@mﬁsﬁmw:-
D) g2, 3o i Ao seam

2) T, fareq] 310 Fgeaqol w1t

3) qoTerT A

1) TaToe aUT Hleulah

Ques # :25
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New welfare economics is also known as :
1) Walarasian criterion
2) The compensation criterion
3) Social welfare criterion
4) Marshallian criterion

g FHegToT AT FI Ig M Fgd ¢
D) arorca =1 Rgia

2) ezfaqfet Rigia

3) graTfores ST Rgid

4) Ao o1 g

Ques # :26

The theory of Second Best applies because all the Paretian optimality conditions are
1) fulfilled

2) not fulfilled

3) hypothetical

4) against welfare

faciir A &1 AT sufaw amy giar ¢ F3ife NeY sreqgraaa frasfredf
Dgfrgred

2) gy €T e &

3) Fredfaren &

1) et & faeg &

Ques # :27

Adding - up problem is associated with :
1) Euler's Theorem

2) Arrow's Theorem

3) Cobb - Douglas Theorem

4) Coase Theorem

YT FI (NS ) Y HEAT FFAUT & -
DR crorderspike)

DR ier o)

3) e - STH TRT A

pk-or: Rersr sy

Ques # :28

By which method, monopoly power is measured ?
1) Elasticity of Demand

2) Cross Elasticity of Demand

3) Learner's Method

4) All of these

THRFR A afda & Fe R ama 2
D #farfread

DAfTHR D AT

SR IO k)
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4) o A Tl

Ques # :29

What is bilateral monopoly ?
1) Single seller and two buyers
2) Single seller and single buyer
3) Two sellers and single buyer
4) Two sellers and two buyers

afrafr TR Rl e E 2
D) e ghar a &Y sham

2) wep TaohelT @ Teh shall

3) & shaT I T el

4) 2 Rsrar T &Y St

Ques # :30

NNP at factor cost is equal to :
1) Net National Product p - Indirect taxes + subsidies

2) Net National Product ¢ - Net indirecttaxes
3) Net National Product gz + Net direct taxes
4) Net National Product p + Indirect taxes

| AT X G TS 36916 §1eT & :-

D) SR H{ew 0¥ [ ASERT 3UTE - 38T X + HeleTet
2) | AT TR Y& TSET 3¢UTE - & HeTET X

3) |TEST AT IR L& TSERT UG + Y& T Y
4>W@W%ﬁﬂ@ﬂscqlq+3ﬂcq&| Ey

Ques # :31

Which one of the following is not the component of regrettable cost ?

1) Expenditure on police

2) Expenditure on judiciary

3) Expenditure on defence

4) Expenditure on entertainment

o F O FleT TATAT AT AR FT I AT & 2
D gfors R ez

2) =13 Qan3it W emy

3) Tefr Qa3 wWwemm

4) FARSTeT W eI

Ques # :32

Which one of the following account is not included in classified accounts of National Income accounting ?

1) Production account

2) Consumption account

3) Saving account

4) Foreign Transaction account
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et & & et T oY A T S & el W wiEAfE A
D) 3care @rar
2) 39T @ren
3) s @ren
4) el ot & @rar

Ques # :33

National Income measurement is incomplete as it does not include :
1) Transfer payments

2) Non marketable goods and services

3) Capital gains

4) All of these

TSET AT T ATT 3 § FANF SHHA WA FATAA TG AT B |
D) gEareazor syerdret

2)mﬁmmaaﬁaﬁaw

3) ehr emon

4) gt & Ty

Ques # :34

Which one is not associated with Keynes's Absolute Income Hypothesis ?
1) APC increases as income rises.

2) It is based on knowledge and human nature

3) Also called psychological law of consumption

4) MPC is greater than zero but less than one.

e & @ Fia 71 T H A8 31T INFTAT & FFafrua Ag g 2
D) 31 st & @y - e 3 3aaieT vgfed sect § |

2) gg AT T 3R AT W TR E |

3) & YT T FAS AR e s Fea |
4)@Wwﬁﬂ%ﬁ%@ﬁmﬁwg Th A FABAT G |

Ques # :35

Which is incorrect regarding Duesenberry's Relative Income Hypothesis ?
1) People imitate their rich neighbours

2) A rich person will have higher APC.

3) Consumer's preferences are interdependent.

4) Differences in relative incomes determine consumption expenditure.

STATR T WY 3T TRFETT F FFaet 7 HleT I FIT HAT § ?
1) T 319y el w1t Ay Ao A B |

2) g1t caferd &1 3aa sqsieT vgfed 30w g & |

3) 3qeIeFdT ST TTATHSRATT HR AR T |

4) 3T & FTATEI 3 3TN I T YR I |

Ques # :36
Which is not linked with Friedman's Permanent Income Hypothesis ?
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1) Transitory Income
2) Transitory Consumption
3) Relative Income
4) Permanent Income

o & @ Fler a1 hgdAa fr varf 37 gRFevar @ grafrua adi e 2
1) GerAuTHRINT 3m

2) HerUTRTNT STHET

3) gmafeyes 3ma

4) TRl 3

Ques # :37

As per life time theory, the average income of an individualis ____ at the beginning of his life .
1) Relatively Low

2) Relatively High

3) Absolutely Low

4) Absolutely High

Shiaer Jrafer R & AR ot & IRFn H s ARFT A siwa s gy
D amer sq a e

2) gmder &9 I 3110

3) fReT &9 A HA

4) et ¥ § 31O

Ques # :38

In classical theory of output and employment, the independence of real variables, from changes in money
supply and nominal variables, is called :

1) Non - Neutrality of money
2) Says law of market

3) Classical dichotomy

4) None of these

3caTee d 3T & wiafSsd Rgid & rqar areafas =i &1 et A qfef qur 7w == & wad= g
FEATAT o :-

D) 77ar Y 3raeear

2) § T IT9IR T

3) gfafad gfasteia ( sTgeeT )

Y godt & IS AET

Ques # :39

According to Friedman and Phelps, when natural rate of unemployment exists in the long run, the Philips
curve becomes :

1) Kinked shape
2) Vertical straight line
3) Horizontal

4) Slopes downward from left to right

WISHAT TUT FATH F HTHR, T Greahrel 7 ISR HiY Fannfas e 3ufPya @l § aa ffacw

I FTMHFR G ATATE :-
1)
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fafad 3R
2) oresad Erelt Y@
3) &faer
4) gret =iy Y 3R ST G & ST |

Ques # :40

The modified Philips curve is suggested by :-
1) Tobin

2) Boumol

3) Joseph Stiglitz

4) Oliver Blanchard

g g2t fAsfoce o fraa &g 2
1) o7yeg

2) §rarer

3) e feearfaes

) 37T sl

Ques # 41

Tobin assumes that expected value of capital gains or losses from holding interest bearing assets is always :
1) Positive

2) Negative

3) Zero

4) Infinity

eReT Y AT ¥ R sarer el QR TR Y T W AICd gy arer Gt sy AT gy v wESRA
W'ﬂﬁﬁm%:-

D getress

2) FHOTcHS

3) o

4) 3reted

Ques # :42

Autonomous investment depends upon :

1) Population growth

2) Technical progress

3) Both Population growth and Technical progress
4) None of these

Tarad fafeaer fFe W AR wEarg 2

D srerdeat gfig

2) qepetihr SeeAfa oY

3) FEEAT gi AT ddelieh! 3eAfal Al )
4) g9 | XS TET

Ques # :43
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The accelerator model is best applied in case of :
1) inventory investment

2) business fixed investment

3) residential investment

4) capital market investment

et Fagiar wafeas alid @ aneare :
D) wpeyr Raferaer

2) fEeR gaade T

3) et o) faferer

4) g5i STetR Rafaer

Ques # :44

If the q ratio in Tobin's Theory is greater than one, it implies that :

1) Stock market places higher value on firm's installed capital than replacement cost.
2) Stock market values firm's capital assets less than its replacement cost

3) High current profits earned from installed capital

4) High profits in future on installed capital

el & Ragia # q T afy 7é @ HRF T A gEFTACTIY

D) 43 ST tat o TR ST ol eI orerd W 310 Ageaqut AT |

2) Y TR e 1 Yolrere afara ot s qeiedToeT derd & #H Hgeaqul AT ¢ |
3) e Soi & g # 317 amaTTsieT

) entre i & sifsar 3 arferey e

Ques # :45

High powered money can be written in equation form as :-

1)H=Cp +R
2)H=Cp+D
3) H:M-1 +M3

4)H:M1+M2+M3

3T ATF T HT THFOT F T & FF fadqA 2

)H=Cp+R
2)YH=Cp+D
3) H=My + M3

4) H=Mqy+ M+ M

Ques # :46

Which is not included in money supply by Reserve Bank of India ( RBI ) ?
1) Currency with Public

2) All deposits of Commercial banks

3) Other deposits with RBI

4) Post office saving deposits

R Rord 3% a1gm ofet o frdt afFafoa adt sward 2
1) Sretar & a1 et

2) Taniyes et & Fet AT

3) Ro1d & & urg 37 SRt

1) grrEret & g START
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Ques # :47

Which is not associated with IS and LM curves ?
1) Productivity

2) Equity
3) Thrift
4) Liquidity preference

AT A A FIT AT IS AT LM T § GFafaa g ¢ 2
D) scargarar

2) Fqierat & 35er

3) ArceTzrar

4) Terar IRAE

Ques # :48

" For every three percentage points growth in real GNP, unemployment rate declines by one percentage point
every year. " What is name of this law ?

1) Okun's Law

2) Hindu rate of growth

3) Lucas Model

4) Keynesian theory of employment

" g Tehel WSET 3eTe (GNP ) # 9 it wfarerd gig ela o1 aRisrmd &3 ve gfcrera aif¥s
NRAFANNE | "sHRIA T FITAHE 2

V) 3ifeper ah fereret

) R

3) o Aol

4) g 1 AR Fagia

Ques # :49

Which type of time-lag, in monetary policy, is given by Friedman.
1) The Recognition lag

2) The administrative lag

3) The operation lag

4) All of these

Hisde F #ifge AN 7 FFT TFR & A7 - edTe F1 goia Farg 2
1) ggaret 3r=aqra

2) gemrataer decrrel

3) fFaTcH ea’Tel

4) gordt el

Ques # :50

Which is true regarding effectiveness of monetary and fiscal policy ? (A) In Keynesian range, fiscal policy is
very effective, (B) In classical range, fiscal policy is not effective (C) Monetary policy is totally ineffective in
Keynesian range. Which statement is true ?

1) Only A is correct
2) Only C is correct
3) A, B, C are correct
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4) A & B are correct

Aifew Tur TorRRr AifS Hr gsmaefiedr & GFarT HF FAT T § 2 (A) g 1 Aoft F ey
AN 3110 werrdh § (B) wfaf®sa Aol & tareria Afy werrd adi § (©) g iy Aoft 7 7T Hfa
qUTT AT § | FlT AT FAT qeT 8 2

Dk Aaag)

Db caay|

3 A B, CHIE

DATBETY]

Ques # :51

Which is not associated with Hicks' theory of business cycles :
1) Explosive cycles

2) Constant rate of autonomous investment

3) Ceiling

4) Floor

e & @ #le7 91 BT F AR T Rgia @ grafrua adi g 2
D) frewies a5

2) Faraa AU & R X

3) & (3Ta )

4) we (=T @)

Ques # :52

Kaldor has used which type of saving and investment function :- (A) Ex - ante (B) Ex - post (C) Arbitrary (D)
Shadow

1) A, B, C are correct
2) A and B are correct
3) C and D are correct
4) B and C are correct

HITER o AN g9d 94T ATAANT Beret & fFH THFR FT Fa AT ? (A) T - 37+ (B) THH -
¥ (C) TATST / (D) ST

DA B, cacmg]

) ATBETE|

3 capacat]

DBICHTY|

Ques # :53

Match list | with llwith the help of codes:-

List | List Il
(A) Dear Money Policy 1. Expansion
(B} Cheap money policy 2. Recession
(C) Raising tax rate 3. Boom
(D) Raising Government expenditure 4. Contraction

1) (A)-2,B)-3,(0)-4,D)-1
2) A-1,B)-4,(0)-2,(D)-3
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3) (A)-4,B)-3,(0)-2,(D)-1
4) (A)-4,B)-1,(C)-2,(D)-3

T 1 TFAT G 1 FT FIS HT Feraar F Fere HE -

(A) FgT FHT <Aifd 1. fawdr
(B) Tl FH@&T =it 2. FHer
(C)&HT FT eT F&T FT 3. Tt

(D) HTastfelh oo & defd 4. g

) (A)-2,(B)-3,(C)-4,(D)-1
2) M-1,B)-4,(0)-2,(D)-3
3) A)-4,B)-3,(0)-2,(D)-1
9 A)-4,B)-1,0)-2,D)-3

Ques # :54

What is inter - temporal substitution in Neo - classical macro economics ?
1) Substitution of labour for capital

2) substitution of consumer goods for capital goods

3) Substitution of current leisure for future leisure

4) Substitution of money for bonds

a9 yfaf®ad A srdeanea & =ad#w T yfaTaaa  Far dread 8 2
D) s a1 950 3 fore wfaeamas
2)%@3#%@?1?6@3#@%

3) GIATT IThTeT T ATIST & 3T T wfaeaa

4) 711 7 oSt & wfawards

Ques # :55

Who envolved Real Business Cycle Theory ?
1) Cambridge School

2) American Neo Classical School

3) Mathematical School

4) Classical School

arEdfas SR T fAgia &1 gfaares e frar 2
D) $feser farurr

2) 3r#dhT o9 yfaftad feamemT

3) arford gever

) yfafsa ae=ve

Ques # :56

According to Real Business Cycle theory, the primary cause of business cycle is :- (A) Changes in Technology
(B) Real interest rate (C) Neutrality of Money (D) Inter temporal substitution of labour. Choose the correct
answer :

1) Only A is correct
2) Only C is correct
3) A, B, C, D all are correct
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4) Only A and B are correct

AREATaH SATIR T3 fAGIT & 3THR AT I FT IATAF FROTE - (A) THailh! 7 IR (B)

AREATa SATST & (C) HET T TEEYAT (D) HH FT HeddAT TTATATIST &Y Scal FT T AT -

DfasAaay|
s cacad
A, B C,DENTTE
)% ATABETE |

Ques # :57

Which one of the following economists is not New Keynesian economist ?
1) Joseph Stiglitz

2) David Romer

3) Robert Gordon

4) Samuelson

goTal ¥ FiT A1 3rferE a9 FeHarg TFwerT 1 rdeme adi & 2
D SR feeatforest

2) e T

3) (e =T

4) Srgarast

Ques # :58

According to New - Keynsian macro economics, prices are sticky in short term, because :
1) Adjusting prices is costly

2) Adjusting prices is not possible

3) This is hypothetical situation

4) Both, Adjusting prices is costly and Adjusting prices is not possible, are correct

9 Freqard) AT HLATE & HTAR Heqshrel H Hed HAFT g ¢ F11 :-
D) a1t & gariei #gam 5T g |

2) Feat 7 TARS TFT G § |

3) g Freufers fUfa ¥ |

4) Feat F TATAISI AL USAT § TUT Hedl F TATISIT TFAT TG |

Ques # :59

In the classical model, where demand function for labour

W

(D)=160-4 g and supply function of labour (S )=40 + 2 o

then full employment level and real wage rate will be -

1) 80 and 20
2) 20 and 80
3) 40 and 160
4) 160 and 40
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qﬁﬁaﬁmﬁaﬁaﬁmwaﬁw{m:ma—4§
mmmqﬁw{&}:m%g%mqﬁﬂw

&I TR AT dedider Halgdl ol &x Bl -
1) 80 3117 20

2) 20 31 80
3) 40 31 160
4) 160 31X 40
Ques # :60

The outcome of Green accounting method of GDP is :

1) SEEA ( system of Environmental Economic Accounting )
2) EDP ( Environmental Domestic Product )

3) NNP ( Net Natural Product )

4) NI ( Natural Income )

TFH T 3G & A@TeheT 1 g R Fafer garT Fm e ghar @ 2
1) SEEA ( qaiTaxor & 31f¥er or@ienst &hr egaea)

2) EDP ( 92TaRuf Be] 36918 )

3) NNP ( 3[€ WTsfae 3edme )

4) NI ( TpTae 3T )

Ques # :61

Who propounded Rigid Money Wage and Flexible Price Model ?
1) J. M. Keynes

2) J. B. Say

3) Marshall

4) Friedman

R A o e wiverever s Rt 7 SferTaeT et fva o7 2
Dk B iore:)

.y

3) AreTer

4) hrade

Ques # :62

Which is not the subjective factors which prompts people to save some part of their income ?
1) Liquidity

2) Rate of Interest

3) Financial Prudence

4) Enterprise

e 7 @ Fler w1 Aca SAFafeass 7¢t § S AT B 39+ 3T FTFE AT T=E F AT IRT FATE
0

i)awaT

2) sATST &%

3) faechar gfgerar
4) wrew
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Ques # :63

" The underdeveloped countries should not accept our inherited economy theory uncritically but remould it to
fit their own problems and interests. " Who said this ?

1) J. A. Schumpeter
2) Ragnar Nurkse
3) G. Myrdal

4) U. Hicks

" Rrerrefter Gaut gt wEa rderayt Rigia IR srdraarcHs alid & w€t v aiRe
T $ 39l FHEATHT 7 T F e aRafda w3 dar afgw | » a8 Fua frawr @ 2

D3 v ey

2) e Fw

3) 3. faga

4 3, e

Ques # :64

What is the theme of UNDP's Human Development Report 2015.
1) Work for Human development

2) Towards human progress

3) The Real wealth of Nations

4) Rise of South

YF TS [AFTH FR-FA (UNDP) i ATera fara RAle (HDR) 2015 7 fwg g 2
D) Areta faerra & oy 13

2) HreTg gaTfa & 3R

3) reet &y areafae gEafea

4) gfgyoT &7 36T

Ques # :65

As per UNDP's Human Development Report, 2015 what is the rank of India in Gender Development Index
(GDI)?

1) 128
2) 130
3) 135
4) 136

Atara fare Rale 2015 & 37aR AT R ga«1 (GD) A ART FTHFA ST ATE 2
1) 128
2) 130
3) 135
4) 136

Ques # :66

Which is not included in the deprivation indicators of Human Povery Index -1 (HPI-1) ?
1) Deprivation measured by percentage of people not using improved water source

2) Adult literacy

3) Probability at birth of not surviving to age 60

4) Percentage of children under five who are under weight
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ATeTa foveierar gaeie (HPI) - 1 3 fer & @ &l 91 30319 / gF=ran &1 gaais aiFAfoad g1 ¢ |
D) seetar arelt TG o1 witeT AL ) IR ST 3 ORI @R 3eiTa T AT
2) gite e
3) FeH & AT 60 TY g NI TET W@ T GEHATST
4) ot a9 § FF & 3767 HR dTel g T Jiaerd

Ques # :67

Who has given the Human Capability Concept ?
1) Lucas

2) Amartya Sen

3) Samuelson

4) Kuznet

AT HTHES HIURON e seqa 8 2
1) e

2) 3Acd B

3) Yrygereret

4) g

Ques # :68

Match the List | { stages of economic growth ) with
List Il { change in relative income inequality ) and
answer with the help of codes :

List- | List- Il

A - | stage 1. Declines
B - Il stage 2. Stabilizes
C - Il stage 3. Increases

1)  (A)-3,(B)-2,(C)-1

2) A)-1,B)-2,(0)-3

3)  (A)-2,(B)-3,(C)-1

4)  (A)-1,(B)-3,(C)-2

T | ( anfdies gefer & TR ) awur @ | (EiEE
HT HEAAT d IRads ) &1 & Fa HI5 T

HEEAT ¥ 3T el .

Sl el
A 9UH T 1. &
B. cfada TR 2. FaR
C. g ¥ 3. defer

D (A)-3,B)-2,0)-1
2) (A)-1,(B)-2,(0)-3
3) (A)-2,(B)-3,(C)-1
4 (A)-1,(B)-3,(0)-2

Ques # :69

" Meeting the needs of the present generation without compromissing the needs of future generation. ' Who
has given this definition of sustainable development ?

1) Kreg Lindberg
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2) UNDP ( United Nations Development Programme )
3) Brundtland Report
4) Chales D. Kolstand

" o7y iy <y JTaRAFHATS F FHFIAT Y T adHATeT ANy Y ITaRAFATI FY R FET | " GRA
farer 1 77 aRemr fFraa & g 2

1) gt foregeet

2) FgeFa Trsg s FrwA

3) geseles Rae

4) greq &Y. FreEevs

Ques # :70

The notion that natural capital stock should not decrease is called :
1) Strong sustainability

2) Weak sustainability

3) Neutral sustainability

4) None of these

U o Yol & Tl & FHT 81 giell A1fe T, F RAER A FATFed 8 2

Ques # :71

What is the cause of trade off between growth and distribution in underdeveloped economies .
1) Structural changes

2) Co - existence of traditional & modern sector

3) Uneducated and unskilled population

4) All of these

Ffawfla srdeaavamat & gfy aur faavor & wew fAadia grary FTFRT FROTE 2
D) sxaeress aRads

2) qFRTETE AT 3T 817 7 g - Aecea

3) Hffara T 3pere STerEEat

4) gerat & Tal

Ques # :72

Lewis model of development is not associated with :
1) disguised unemployment in agriculture

2) existence of modern sector

3) limited Labour supply

4) subsistence agriculture

fasrer &1 o5 1 i fhad grafrua adi e 2
1) g5far 3% fosel i ateramey

2) sy a1 7 Jfedea

3) s oy FAfAd qfd

4)3ha?ri%|aﬁga§ﬁr
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Ques # :73

If the third phase of Fei and Ranis model :

1) Farm workers produce less than the institutional wages they get

2) Farm workers produce more than the institutional wages they get

3) Migration of workers from agriculture to industrial sector continues.
4) Agriculture sector becomes insignificant

w1$ aa1 Iaw Rigia i Nad sraear & --
l)fﬁwmﬁﬂﬁmwamﬁﬂa?@@reha JcaTeeT A & |
2) Y ASG 31! THcTeY ATel HEATTT HoTgd § HTAF 3ce R & |
3) vt 1 Y ¥ eI £ 1 3 S Y e |

) ¥y 817 IR Agcaqol 9ot AT |

Ques # :74

What does Harrod call to " highest attainable growth rate. "
1) Natural Rate of Growth

2) Golden rate of Growth

3) Incremental Rate of Growth

4) Feasible Rate of growth

RS A " ITAH WIod FA AT IR " FFAT TR ?
D) wammfas gfg ax

2 gredrafg e

e g

4) Fsme gig &

Ques # :75

Domer's Income Effect of Investment may be expressed as :

1) AY
AY = AK. —
AK
Al AY
Day=— . —
AK ™ AK
I
) Ay = -, ar
S
4) S
AY= = .1
Y

AT & RAAANT F 3T IHT ) 3T IFR Iad fFATATTHATS -

1) AY
AY = AK. —
AK
Al AY
) ay=— 2
AK  AK
I
3) AY = = . Al
5
4) s
AY= = . 1
Y
Ques # :76

Which one is the Golden Age Equilibrium of Harrod's model ?
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1) Gy =Gs =Gc
2) Gy =Gl =Gs
3) Gy =GK =GlI

4) Gy =Gw =Gn

foesr & & et a1 803 1 FAOt Jor HegerT AlSAE 2
1) Gy =Gs =Gc

2) Gy =GI = Gs

3) Gy = GK =Gl

4) Gy =Gw =Gn

Ques # :77

Which one is exogenously determined factor in Solow's model ?
1) Labour stock

2) Technology

3) Capital stock

4) Population Growth rate

e & O i 31 I F RBgia & 927 RuREF FRF T2
1) sy 1 T2l

2) qepelteh

3) 4Sh 1 Tl

4) SeTeEdr gig e

Ques # :78

In Kaldor's model, technical progress depends upon :
1) Rate of capital accumulation

2) Rate of growth in income

3) Rate of growth of savings

4) Profits

FiesR F A 7 daeirehr yarfar B o e Feeh @ 2
Deframafaa ™

) 3 A g W R

3) gadt Fr3fg W R

4) amett ox

Ques # :79

Which one is the steady growth rate equation of endogenous growth theory ?

) Sf=aK—(A+n)K
)Sf(K)=(A+n)K
3)Sf(K)=(a+bs+n)K
4) Sf = AK(K)—(n+d)K

foest & @ Fler a1 e gfy Rigiar 1 ve iy v waior g 2

1) Sf=aK-(L+n)K
2) SF(K)= (A +n)K
3) Sf(K)=(a+bs+n)K
4) Sf = AK(K)—=(n+d)K

Ques # :80
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In Lucas model of growth, which is the major determinant of growth ?
1) Investment in human Capital

2) Investment in Capital

3) Investment in Infrastructure

4) Investment in Realestate

o ¥ 3y & Rigia 7 gy 71 e AuRE sl ard 2
D) FAreta it 3 fyaer

2) ot 3 ordar

3) 3R I F fAaer

4) srEaer 7 faer

Ques # :81

The scope of ' Learning by Doing ' model is more :-
1) When level of capital input is greater

2) When level of labour input is greater

3) When level of labour and capital are equal

4) None of these

'WW?@W'W&?WW%:-
D) St g0 3mm-a7 1 TR 30w & |
2) SIS S 377-aT ol Eo 3R g7 |
3) STer 59 T ST BT TR TATA & |

Y go1at A IS AE

Ques # :82

In golden age path, all variables change at a :-
1) decreasing proportionate rate

2) increasing proportionate rate

3) fluctuating rate

4) constant proportionate rate

FqUT o1 9 #F Faft =_E # aRadT g g -
D) wreeh g s ex X

?) qecht g2t HATA o )

3) 3 AT X W

4) e FATAIT &X

Ques # :83

Neutral Technical change means : (A) Capital Saving (B) Labour Saving (C) no Capital Saving (D) No Labour
Saving Which is correct :

1) C & D are correct
2) A & B are correct
3) Only C is correct
4) Only D is correct

ACET TFAIT IRTAT ¥ ACTH ¢ : (A) Yot Y T4 (B) #F Y T4 (C) Tolt Y T4 71 (D) #H
AT AR PAATFITTI R ?
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Dcapaai|
) AGBETE]
DRAGCcETE
DRASDIETE |

Ques # :84

Disembodied technical progress means :-
1) more output with more inputs

2) more output with less inputs

3) more output with same inputs

4) more output with new technology

A TAFAIhT YTy F ATCTd @ :-
D 31frer scareet 3iftem amemait @
2) 3110k IcUTe e 3M-gT3T A
3) 317 Icures A 3m-ait &
4) 310 3cuTe 1S dehalleh A

Ques # :85

Which is not the principle of environment regulation ?
1) Polluter pays principle (PPP)

2) Precautionary principle (PP)

3) Compulsory principle (CP)

4) User pays principle (UP)

Fle7 a1 qaTaRr AT w1 Rga A g 2
D) yrgwes gan sperare fagid (PPP)

2) g fagid (PP)

3) 3feary fagia (CP)

4) SRITeRT ZaRT 3T fogiet (UP)

Ques # :86

What is meant by Pigovian tax ?

1) Tax on wastage of resources

2) Tax on emission of pollutants

3) Tax on extra use of water

4) Tax on over consumption of resources

defaaa s FATACIA § 2

D) Famer=it & 3r9ead X T

2) gESuT e aTer TeTf & Farg ¥ A
3) Srer & 3ifaRed TAIT W

4) gareEt F 30 IR wWa

Ques # :87

Which one does not specify need for environmental valuation ?
1) Environmental Litigation
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2) Environmental conservation
3) Environmental Dispute Resolution
4) Evaluating proposed Environmental Programmes

fore=t 3F @ FIeT AT T TATROT Heiet Y ATTTSHAT P [Tl 781 FIAT S ?

D) oafraofir Aareaarsh

2) gqfeofier E3eToT

3) qiaRoiy faarel &1 fAgerT

4) gEaTiad JATaRUN AR P Hediehs]

Ques # :88

Which one is not contingent valuation method ?
1) Trade off Game Method

2) Costless Choice Method

3) Delphi Method

4) Travel Cost Method

e & & e W e Aew ufor R ad e 2
D faodia wer fafey

2) qmare TR =T fafer

3) Sy fafey

4) g7 o fafYy

Ques # :89

Which school of thought talk about conservation and improvement in natural capital assets for sustainable

development.

1) London school of Thought
2) Daly's operational Principles
3) Hartwick Solow Rule

4) Safe Minimum Standards

forer faremeemr 1 weveTT YRR e & v wigfas Gt @over & SReor s guR R aa &arg ?

1) Srecat faamem

2) gtehr &7 frarcHes e
3) gréfaeh die fore
4)§Tfa?fr€4‘\dd+l HloTeh

Ques # :90

Which model measures weak sustainability as a measure of sustainable development ?

1) The Index of Sustainable Economic Welfare (ISEW)
2) Pearce - AtKinson Measure (PAM)

3) Environmental Space Measure (ESM)

4) Ecological Footprints Measure (EFM)

Fie AT AT FAGR FRUTar 1 717 & g s #1 Avars 2

D) gfeer 3nfie e 1 gaeis (ISEW)
2) 1 T TefdhEsT AT (PAM)

3) qaTaToT T2ATT AT (ESM)
4)
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qiRREufahr Rieg #19 (EFM)

Ques # 91

Sustainable development process through formal - informal education programme aforestation, management
of parks is called :-

1) Removing subsidy

2) Market based approaches
3) Public partnership

4) Economic incentives

3itaaTie - sreitaaTies e FRIFH, TARIT, gt F TawteT garT ddd fasra TfRar Y F41
FEA S ?

D sregert gerem

2) 91k 3menia aRoe

3) Frdtiere agHTfaar

4) 3N drcarge

Ques # :92

Derived demand means :-

1) More demand because of increase in income.
2) More demand because of more wealth

3) Increase in demand for goods

4) Demand for factors of production

Sqceet AT HT 7 T :-

1) 31re7 3 T 35 IROT 3N AT

2) 3170 FFafed & ST 37T AT
3) gEqst fr AT A gfg

4) IcuTesT & ATt Y AT

Ques # :93

Engel curve shows the quantities of a good which the consumer will purchase at various levels of :
1) Prices

2) Saving

3) Income

4) Preferences

TSI aeh GTaT § U SaRT 3 Y 75 T HT AHT 1 :
D) Freat & [JffeT s a1

2) gad ¥ RffeT T |

3) 3 F R TR 9T

4) 31frAE F RffeT Tat W

Ques # :94

In case of Giffen goods :

1) The positive income effect is stronger than negative substitution effect
2) The negative income effect is stronger than positive substitution effect
3) The positive income effect is stronger than positive substitution effect
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4) The positive income effect is equal to negative substitution effect

ﬁﬁmaq-—cpﬁa?ﬁtr:

1) HuTrcHes TATATT THIT @ OaTcHS 3T YHTT ATFaemel glar s
2) elTcHe TATATTe=T THTT & HOMcHS 3T THTT ATFaimel giar &
3) HaATcHS TUTATYeeT ¥ UATcHS 3T THIT AfFaemel gar g

4) TATcH 3T THI FOTcHS FTIEATAT T THTd & ST 81T §

Ques # :95

In Slutsky's substitution effect, income is reduced or increased by :-
1) Cost difference

2) Compensating Variation

3) Equivalent Variation

4) Compensating difference

FACEDT TUTATIeT THIT 7 31T # F# A1 3G FTHFROTY -
D) AT 3reer

2) grfaqRes aRade

3) gt URadT

4) arfaoRe 3R

Ques # :96

The Band wagon effect makes the market demand curve for the commodity :

1) Flatter or more elastic
2) Steeper or less elastic
3) Perfectly elastic

4) Perfectly inelastic

o5 d91et TS TG & AR AT aF FY qATATE
D) 19t o 31 e

2) &g a1 FA AEER

3) ot e e

4) qoTerT FeraeR

Ques # :97

Markowitz Hypothesis relates the marginal utility of income to changes in the level of :

1) Absolute income
2) Present income
3) Relative Income
4) Past income

ATRIAST 3YHETT 3T Y HATT 3TANAT ' Fag HIT &:
1) et 3mar & qRadat & &R A

2) g&HTT 3T F IRGdA F TR Y

3) @rdeT 3 & qRadH F TR

4) sTcTeRTelleT 3T & IRTTT & TR &

Ques # :98
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The firm's short run supply curve of a commodity in perfect competition is :
1) Rising portion of firm's MC curve below AVC curve
2) Rising portion of firm's MC curve above AVC curve
3) Rising portion of Average total cost curve
4) Rising portion of Average variable cost curve

ot wfaafarar & wat 1 frelt awg & fore sreumreler gfet aw a8 -
1) MC g &1 339X g1 REar s AVC g & J=) Feud @

2) MC g% T 39X a9l TRETT ST AVC a5 & FIR feaa g

3) 3T ool ST dsh T SR TGl TG ET

1 3traa aRadeTeleT ATeTd Ik T FUX ST [eEam

Ques # :99

The combined consumer's and producer's surplus is at a maximum in which of the following market situation ?
1) Perfect competition

2) Monopoly

3) Monopolistic competition

4) Oligopoly

HYFA ITRFAT TG 3cqIGH i gad fasafai@a & €@ ot aam avaar & sfasar it e 2
D) quf gfenferar

3) wmfRreRIcHS gfaafarar
4) sreuriteR

Ques # :100

Empirical studies made by economists find the shape of long run average cost curve due to technological
progress that takes over time to be :

1) Rising upward

2) U shaped

3) L shaped

4) Saucer type shape

JredrenfEart garT R I Mg rede aatan § & WHT F1er & A1y gt arelY ety oIy
& 0T STl AT AT Tk T HTHR G :

D 5o 3o gam

AU - smpfar

L - smpferET

4) Feady smfa @

Ques # :101

In a game theory, a situation in which one firm can gain only what another firm looses is called a :
1) Co-operative non constant - sum game

2) Non co-operative non constant - sum game

3) Prisioner's dilemma

4) Zero sum game

QT g & 98 AT 519 U G FY A1 g1 a3t 519 gl G A 3N g N}, @ Fga d

1) gt Feeer - TR @er
2)
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g O - Ui @l

3) &ér i gfaer
4) e afr A

Ques # :102

Which of the following are parts of every game theory model : A. Strategies B. Players C. Constraints D. Pay
offs Select the correct answer using the codes given below :-

1)A,Band C
2)B,Cand D
3) A,Band D
4) C only

frrafaf@a & @ #ia & g Rga & {0 8 : A. =35 @ B. @am) €. afasswr b, I+ 8 3ea
T T4 A1 & §U HT T 3TAT FX T AT :

DA, B3iRC

2)B,c3RD

3) A,B3RD

4) Srerer C

Ques # :103

Bliss point is where :

1) The utility frontier curve is tangent to the welfare curve

2) Indifference curve is tangent to price line

3) Isoquant curve is tangent to isocost line

4) Tangency of various indifference curve of two individuals

RHATAG f9g ¢ o181 :

D) sq2farar @1 9ok Fed1or gk I T Far g
2) eEyar g% AT TET H TIT HETE

3) FASCUTE a5 SITeT Y@ &Y T Ham §

1) &Y Tt & AT deeyar geht T Taiar

Ques # :104

Main obstacles to attaining Pareto - optimality and maximum social welfare is :-
1) Existence of imperfect competition

2) Presence of externalities

3) Consumption of public goods

4) All of these

R ITHAAH TUT HAFAHA AEAIAF FEATT JTCd FI H FTET TS :-
1) 3rqut afenfarar s arr ser

2) qregan3it &1 g

3) ATdStfeeh a3 T ITHT

4) gt ol

Ques # :105
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Match list | and List Il and select the correct answer by
using the codes given below the list -

List - | List - Il
(A) The Absolute Income Hypothesis (i) James Dussenberry
(B) The Relative Income Hyopothesis (i) Keynes
(C) Permanent Income Hypothesis (iif) Ando Modigiliani
(D) Life Cycle Hypothesis (iv) Friedman

1)  A-ii,B-i,C-iv, D -iii
2)  A-iB-ii,C-iii, D - iv
3)  A-iii, B-ii, C-i,D-iv
4)  A-iv,B-i,C-iii, D - ii

AT | T T N Frer gATad ifee 3R gt & e
fgT a0 e &1 v Y Fel 3 g0

T | el

A foRdet 3 afR@egar (i) SI7E ga=Iar

B. OTIaT 1T YRe&eqddr (ii) Foat

C. BRI 3= 9R&edar (iii) TUsT AEEeaAT
D. Sflad = Iiidheddl (iv) #isda

1)  A-ii,B-i,C-iv, D -iii
2)  A-i,B-ii, C-iii, D - iv
3)  A-iii, B-ii,C-i,D-iv
4)  A-iv,B-i,C-iii, D - ii

Ques # :106

The incorrect statement of High Powered Money is :

1) High Powered money is basis of expansion of bank deposit and money supply

2) It is composed of currency held by public and commercial bank reserves

3) The demand for high powered money is related inversly to money supply

4) An increase in supply of high powered money leads to decrease in money supply

FTAEANT HT & ford e FUT 3 :

D) soereaii far da STmait & fawar 3R et - 9fet & fsfor @1 3meR g |

2) Ig STl & 910 FaT 3R FARTIS S5 & a1 3@t & &9 F A= ¢ |
3) FTaE FgT Y AT 1 H{aT It F ol araeur § |

4) FTaEadra fqar 1 ufed # gfg Far A it F Fr e &

Ques # :107

The money multiplier shows the relationship between :
1) Currency with Public and reserves with Banks

2) Excess reserves and total reserves

3) High powered money and money supply

4) Required reserves and total reserves

ST VT GRATAT § :

1) Srotam & 91 e 3R St & gra Rerd & g vy
2) sifaRed Ratd 3R Fa Rord & fra geaey

3) e arfere 77T 3R 77T ofcf & e weaey

Y smaeas Rard ik g Rard & o woawy

Ques # :108
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Assertion (A) : High Powered money is currency held by public and the commercial bank reserves. Reason (R)
: If demand of High powered money remains constant, an increase in its supply sets multiplier into operation
and causes resultant increase in supply of money

1) Both A and R are individually true and R is correct explanation of A

2) Both A and R are individually true and R is not correct explanation of A
3) A is true but R is false

4) A is false but R is true

FYUT (A) : FTIETNT HGT AT & TH FI8 AR FARAT 391 & arw Rerd § | FR01 (R) Al
sorearra T 1 AT AR TR, 3 9 & g aore Y Faremeiter et & ai aRomaTERe o
qff A gy FA Y |

1) A Tur R cafaaer: et @gr & 3R, A &7 HEY TTSEHIOT

2) A AT R TTFA: ST GETE 3R, 'A' T HEY TITSETHIOT 78T &

D ATHEReGRITATE

D AT R R R TSR

Ques # :109

Match List | and List Il and select the comrect answer by using
the codes given below the list -

List- | List - II

( A) Increase in supply of money (i LM curve shifts to left

( B) Increase in demand for money (ii) LM curve shifts to nght
( C) Increase in Autonomous investment  (iil) IS curve shifts to left

( D) Increase in savings {iv) IS curve shifts to right

1)  A-ii,B-i,C-iv, D-ii
2)  A-i,B-ii, C-iii, D - iv

3)  A-ii,B-iii,C-i,D-iv

4)  A-iv,B-iii, C-ii, D -i

AT | T I N F [T gAtad fifee 3R Rt & e
fgT a0 e &1 v Y Hel 3 g0

T | sl

AFer 1 9fd & gefa (i) LM @k 15 3R &bl §
B. #ar & AT 7 g (i) LM a3k g5 3R TWehal &
C Taraw fder & gefer (iii) IS @ 915 3R ThdT o

D gwid & ggf& (iv) IS @ &5 3R ST ¢
1) A-ii,B-i,C-iv, D - iii
2) A-1,B-11,C-1i1,D-1v
3)  A-ii,B-iii,C-1,D - iv
4) A-1v,B-11,C-11,D -1

Ques # :110

In simple classical model on the assumption of flexible money wage the aggregate supply curve at full
employment level of income is :

1) Perfectly inelastic
2) Perfectly elastic

3) Relatively elastic
4) Relatively inelastic

I FoATrAH! Al H I & araqot a1 Aergl it AFzar w1 3memRa 8, 7of IR 3T & FR R
D) quterar seraer
2) ot diraer
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3) FreTaT e
4) FrETTAT SATIER

Ques # :111

The two important assumption on which Pigou effect is based are :
1) Flexible wages and Price level

2) Price expectations are considered

3) Stable stock of money

4) It is a dynamic analysis

oo wetTa fet &Y Ageaut Aganat W ImaiRa §
D) erefrelt Frorgdy qar $eda TR

2) AT Y3t I e H @ g

3) FgT &1 O wela

4) Ig Teh gAY faRervoT §

Ques # :112

In samuelson's trade cycle model when the value of
o.=05andp =3thenthereis:

1) Cycle less path

2) Constant amplitude cycle

3) Explosive cycle or antidamped

4) Cycle less explosive upward path

AFGerdeT YR = Alsed A 519 Hed o =05
IRP=3gragega b :

D ot oo

2) TeR AEdR arel Teh

3) faEwIecHS T JUaT uid - IRATET

1) Tt TAEPICTCHS U STTaT 9

Ques # :113

According to Dussenberry as the income decreases, the consumption does not decrease with same rate is
reffered as :

1) Ratchet Effect

2) Veblen Effect

3) Demonstration Effect
4) Snob Effect

FHA F IHTHR S« AT Tl 8, STHNT WA oI § g1 gedl, 56 Fgcl o
1) Y= worra

2) 39T gHTE

3) yegieT gHE

4) g4 gerra

Ques # :114

Assertion ( A) : When national income increases then economic welfare also increases. Reason ( R) : Economic
welfare not only depends on quantity of income but also depends on the way income is earned and the way it is

file:///C:/Users/DIPLMain/Desktop/RPSC-June/2-Development/10-ExResult/bin/data/95-Economics-l/sesspack/qpimages/QP_95-Economics-1.html 33/44



28/06/2016 College Lecturer Exam - Economics-|

spend.

1) Both A and R are individually true and R is correct explanation of A

2) Both A and R are individually true and R is not correct explanation of A
3) A is true but R is false

4) A is false but R is true

FYT (A) : T TSI AT TGl ¢ oY AT Fearor 7 i Bl 3] FROT (R) : 377 Feamor Faa
T Y AT W) T AL FI3aT afew 3T F1 37T T 3 3T 77 w3 & ot W ot sk Fan
g

1) A gT R cafFaerd et @gY & 3R, 'A' T TET TTSEHIOT &

2) A T R cafFdeTa gt TEr § 3R, A T TE TTSERIOT AGT §

3) A FEI 8 IRe R T §

) AT § e R FETE

Ques # :115

The indicators to construct Physical Quality of life Index by D Morris are : A. Life expectancy indicator B.
Infant Martality indicator C. Basic Literacy indicator D. Standard of living indicator. Select the correct
answer by using the codes given belows : Codes:

1)A,Band C
2)B,Cand D
3)A,Band D
4)B and D

3). 7w garT shtaet &1 sifae aqoracar Yawie & AT 3G Tha® ¢ : A. SlaeT GHTETAT Hha®
B. R AgeX Fhash C. R T D.SaeT TR Fhaas FEY Seck 1 94 A1 A gu e a1
ngﬂ'mﬂ'

DA, B3RC

2)B,C3HRD

3 A,B3IRD

Y B3RD

Ques # :116

To avoid value judgements, the economist and UN organisation use which of the following measure of
economic development :

1) Life expectancy at birth

2) Calorie supply per head

3) GNP per capita

4) Literacy signifying primary school enrolment as percent of population

Ao Aot & s9at & forw srefermresh qur g, vet. & Worew e f@a & @ s Rem srala @
AT FTIATFIIE

D) Stea & GHT SiaeT &7 g2

2) g carferer droiry Jmafet By

3) ufay cafed devet T 3care hr

4) grafie faT et # e & gfaerd & Tar qIftet garT JrarRdr A aX

Ques # :117

Inverted U shaped Hypothesis of income distribution given by Prof. Kuznets states that in early stages of
economic growth :
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1) relative income inequality decreases, stabilises for time and then increases in later stages
2) relative income inequality increases, stabilises for time and then decline in later stages
3) relative income inequality decreases and then stabilises
4) relative income inequality increases and then decreases in later stage

FAACH F 3e¢ U AP a5k IRFeTT 31 F Faraor i qard @ & 3l R & yriPsres wwor
H:

D) |t 3y 3T Ted §, 0GR & fow Feuw g § 3R R arg f srawer F aery

2) |98 3T AT ST B, Fo TAY & foT PR gl & 3R T a1e Ay sraear A gecdr e

3) HT9eT 3 IFATACT T § 31N R R gr o g

4) \TI8T T IFFATATT T & 3R T a1 1 sgear Hgedr

Ques # :118

If the value of Ginni Coefficient is one then there is :
1) Complete inequality of income

2) Complete equality of income

3) Greater inequality of income

4) Greater equality of income

I Fre=h IorF T HeT TF BT AT g B :
D) 3 # qut sraeAretan

2) 3 # qut FATAAT

3) 3 & 3110 AT

) 3T 7 310 FHATSTAT

Ques # :119

A graphical representation showing the degree of inequality of income is called as :
1) Laffer Curve

2) Learning Curve

3) Lorenz Curve

4) Engel Curve

T 3R 0T 3 37 Y AT M FfE Frgaiar g, Sy Fed &
D dwtasw

2) Rfer asm

3) AT Tk

1) Gorer aeh

Ques # :120
The numerical value of relation between an increase in income and resulting increase in investment is called as

1) Ginni coefficient
2) Multiplier

3) GDP deflator

4) Accelerator

3 7 7Y 3R TRomATEwT A & 3y & fv & wraey § seaeRE AT F FE AR
D) fare=tr aqotien
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3) A G sgERas
1) e’

Ques # :121

The incorrect assumption of Fei and Ranis theory of economic development is :
1) Land is fixed in supply

2) Population growth is taken as exogenous phenomenon

3) Workers in either sector consume only agricultural products

4) Agriculture activity is characterised by increasing returns to scale

BT 941 IH & 3R+ e & Rgia T Taq Aaar g
) sy ofef Ree d

2) SrereEar 3fE 1 U afpsiid ded % §9 7 AT I

3) St &5t & A4S Faa 1Y TEI3T T ST LA &

4) iy ek 3 SRy 5 g TR T Y

Ques # :122

Green Finance mostly refers to financial investments flowing towards :
1) Agricultural development projects

2) Industrial development projects

3) Dairy development projects

4) Sustainable development projects

g faca 31fwIea: 3ea@ Far ¢ 34 facdiy RFAET st yaRaaia g :
D) fy forar 2iroremait 3

2) stz Terra st &

3) sdY ferre Aratermait

1) Fadr faera A3t

Ques # :123

In Joan Robinson's model of capital accumulation " a golden age " is characterized by which of the following
features : A. Technical Progress is neutral B. Population grows at steady rate C. The rate of profit tends to be
variable D. Level of real wages rises with output per MAN. Select the correct answer using the codes given
below :

1)A,Band C
2)B,Cand D
3)A,Band D
4) Only C

Siter Waewer & ot - T & Rgiar 7  Faof gor + Ay fhvard feafaf@a ¥ slawh @ A
A FaTTer TEEY ¢ B. FTAGEAT U 1T & 75 T ¢ C. et Y T aRapciorelier @t & D.
wfeeafaa Seuteet & W1y aafa® ASGY FT FaT g1 § HEY Seal H 94 oA & §T e &1
mmgﬂ'mﬂ'

Da, B3RC

2)B,C3RD

3) A,B3RD

4) Faer

Ques # :124
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Solow builds a model of long run growth on the basis of which of the following assumptions : A. Labour and
Capital are subsitutable for each other B. There is neutral technical progress C. Prices and wages are rigid D.
Production function is homogenous of the first degree Select the correct answer using the codes given below :

1)A,Band D
2)B, Cand D
3)Cand D

4) Only D

Hrelr o e faf@a & & slad aeaanst o ddwrelier gie Atse #1 favor fram : A, e qur gt
F REI FATATIeST AT ST HFHAT & B. TFAIT W A€ § C. AT a7 ASIG oI5 8 D. 391G
HAA TUH FIE FT AT I ¢ FEY Sea HT 97 A & §T Fe 7 373 F:3d g HfIw

DA, B3RD

2)B,Cc3RD

3 c3kD

4) &gt D

Ques # :125

Kaldor postulates three functions for the operation of model of growth in constant working population they
are : A. Consumption function B. Technical progress function C. Saving function D. Investment function Select
the correct answer using the codes given below :

1)A,Band C
2)B,Cand D
3)A,Cand D
4) A and B

FEBR dlteT Beralt AT FTAUROT qara T A A IR Az F Fuw Frbeler serwean F fraeae g
HTGYF § : A. STHIT FeleT B. dehaileh! YT BeleT C. T8 WereT D. RAfAINT Heoret T 3cav &1
T4 A1 A gU He HT ITANT FA grAfae

DA B3iRC

2)B,C3RD

3 A, C3RD

) A3MRB

Ques # :126

According to Hicks, a techincal change is neutral if :

1) The ratio of saving and investment remains unchanged at constant marginal propensity to save

2) The ratio of marginal product of capital to that of labour remains unchanged at a constant capital labour ratio
3) The ratio of input to output remains constant

4) The productivity of capital is equal to productivity of labour

R & ITUR U aweliht TRAT aeEy a9 TATE I :

D feeR deArea sa wafa ) saa 3R Rfeier 1 3rqara smaRafda ward

2) e TR i 497 31T I 41 & W Yoft & HeTed 3euTeeT &7 3e]aTe FaRafid W&ar &
3) 3T - foXetet 3requre FeeR Qe @

4) GSi ScaTEhaT S T ST $ STE &

Ques # :127
Which is incorrect statement of implications of Harrod neutrality is :
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1) It is applicable to dynamic situation
2) It is based on relationship between capital and output with no direct reference to labour

3) The share of capital and labour in national output are variable if the capital output ratio and rate of profit are
constant

4) Constant capital output ratio implies that capital stock and labour force grow at same rate

N acearF M A sFmFuaT Taa

D) 71 srcarers Rufa W e gar g

2)21%":@?—& Uil 31X 3cUTee & Goaeel O 3TUTRA §, 4 &7 61T Hoasl 76l o

3) g 3eure #F Yol 3R 4 At & R aRadereiiar €, afe amer & ax e Ioit - 3eurg 3reaTd
feer gt

4) R Yoft 3eaTeeT AT Y AIaT Tg & T Ioi Teish a2 47 AfFd H th T R A R @l d

Ques # :128

The concept of Golden Rule of accumulation was given by :
1) Kendrick

2) Denison

3) Edmund Phelps

4) Jorgenson

' g9 &1 Fq0T g ' F rauron Fad garRr Yy s
l)m

2) sfaT

3) usHs hotH

4) AT

Ques # :129

The endogenous growth models emphasise that the technical progress result from : A. Rate of investment B.
Size of the capital stock C. Stock of human capital D. Rate of consumption Select the correct answer using the
codes given below :

1)A,Band D
2)A,Band C
3)B,Cand D
4) Cand D

Hedstta gig Al T & § o apalteh) 3o=1far gelt § aRumaEaw T A. fAfater fr e & B. g6ht
T & HHR { C. AN it & Feih { D. ST 1 &7 § e Sccll 1 79 A1 T g0 e 1
ELEILESCEAEIELE X

DA, B3RD

A, B3RC

3)B,C3RD

Y c3RD

Ques # :130

According to Lucas the factor which plays a crucial determinant in growth process is :
1) Investment in education

2) Investment in infrastructure

3) Investment in new machines

4) Investment in agriculture
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AHTH & HTHR HeAAF Aeaqor ges Y Iy aftrar & frufee sfAer s Feard, ag & -
D) fRver 7 fyfaner

2) 3R T 3 fafeier

3) o7 Fraett 3 Rarforeiver

4) ¥ 31 Faferaar

Ques # :131

Travel Cost method ( TCM ) is mainly applied for determening the :
1) Economic values of sites that are used for recreations

2) Economic values of sites that are used for minning

3) Economic values of land used for agriculture

4) Economic values of sites used for industries establishment

gRaget amra Afe (TCM) FT HETT: 39T o sira 8, fveiwor 8 -

D) aiRsret & fore fore wemer o 9o g3 &, 38 e e

2) getet & forT Tore FTet T T g3 &1 36T 3T oa

3) ¥ & fore o o7fr a7 AT €31 & 3t 3T o

Y 3tteiferen T & forv fore FTeT 1 3TN g31 81 3HaH N IAF oo

Ques # :132

The first economist to introduce the concept of ' learning by doing ' was :
1) Kenneth J. Arrow

2) Joan Robinson

3) Paul M. Romer

4) Robert E. Lucas

woe IR for e ' e & WG ' IEURon Y vEd fHar e
D&aaa
2) Sitet e geT
3) qfel TA. IR
) et §. o

Ques # :133

Learning Curve shows :

1) Decline in average input cost of production with rising cumulative total output of firm over time
2) Decline in total input cost of production with declining total output of firm over time

3) Decline in marginal input cost of production with rise in total output of firm over time

4) Increase in average input cost of production with rising cumulative total output of firm over time

ATAH I gATATE

D) gy oiieet 3euneet &1 e 3119Te et & &Y, T 3 Fge) Hol Fof 3G F Y
2)WW0-_CT%7§|'3??01 39T ST H AT, ol 3cUTeeT H FHAT & /Y

3) Fo wfied Tt & AT AT AT & FA, Fol edmest 7 e & @Y

4) FH I 3 T FaTe 3 R, o F e Fardl oot SedTe 6 @Y

Ques # :134
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Limit Pricing refers to :

1) Setting of price equal to average variable cost

2) Existing firms charging a sufficiently low price to discourage entry of other firms into the industry
3) Setting of price equal to average fixed cost

4) Existing firms charging a sufficiently high price to discourage entry of other firms into the industry

AT fAaFea g :

D) siae aRadiereiier omerd & strey A @ faeiwor

2) Fanfire et v A ShIE o il & T 3eier & 3= Bt &l gaer ecaried &
3) 3iad TRUT Tt & sRTe} hIAd & feior

4) Ty wef gfe 3 i Aot S & Toa 3eeT & 317 Baf &1 vaer Recared g

Ques # :135

Dominant strategy is :

1) The optimal choice of a player no matter what the opponent does.
2) The optimal choice of a player considering what the opponent does
3) All the firms follow the price determined by barometric firm

4) Price leadership by a dominant firm

Ye{cashr] SYEIAAT§ :

D) fremst ganT g5ead g, Tfaeadl $o o Y Femfad w1 g

2) TRETEY SaRT $STAH TATT, TTc@ar FT HIM ST AT H TWAT &
3) g3 ot AR Bot garT fAuIRE e 1 31eaTor el &

4) HrAT Afed TETT HH GaRT

Ques # :136

' Tit for Tat ' strategy is best for the :
1) Zero sum game

2) Non zero sum game

3) Repeated games

4) Sequential game

' SHAT Y AT Y g SeAA
D era-afr @e & fow

2) AR Wl & fow

3) geTga Wt o faw

4) sige @e e

Ques # :137

The first and simplest general equilibrium model was introduced in 1874 by the economist :
1) Vilfredo Pareto

2) N. Koldor

3) Leon Walras

4) K. J Arrow

TUH AR T AEATT Hoerer Alse 1874 F frar arefamealt qanr e fam o :
D) frethet e
2) T, FesR

3) foreT Aoy
4)
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Ques # :138

The GDP deflator is calculated as follows :
1) ( Nominal GDP / Real GDP ) X 100

2) ( Real GDP / Nominal GDP ) X 100

3) Nominal GDP / Real GDP

4) Real GDP / Nominal GDP

S.ELdY. (GDP) 3ravhifas &1 IR&wa AFT YR & frar rar g :
D (Al s Erdr. / areafas shardr ) X 100

2) (areafde Srar . / #Afge Srardr ) X 100

3) Al AW, / areafas shard.

4) areafae S a . / Fige s ardr

Ques # :139

The statistical methods used to avoid double counting in calculation of national income are : A. Value added
method B. Aggregate method C. Transaction Method D. Final Product method Select the correct answer using
the codes given below :

1) Aand B
2) Band C
3) Aand D
4)Cand D

TS 3T F IR H gl M1 A g9 & AT Fia W aifeahr Aot w1 aaier Faramarg :
A. 777 Sitg R B. warar R C. 3= &7 R p. 3feasr scurg RAfYy @@ seav w1 93w e R ge
FT HT 3YINT HI §C Hfow g :

DA3RB

2)p3kc

3) A3RD

Y c3kD

Ques # :140

In order to derive Personal income from national income, we have to deduct which of the following amounts :
A. Corporate Income Tax B. Transfer Payment C. Undistributed corporate Profit D. Social Security
Contribution Select the correct answer using the codes given below :

1)A,Band D
2)A,Cand D
3)B,Cand D
4) B and D

TS 3T ¥ AP 37 e Fa F AT PArafaf@a # @ Fa aef Fraer R smarg : A.
foereT 3T T B. 3T spETaTer C. 3fAaRa fovarer amer D. wrifore geaT sferare wet Seal
94 A1 T gU FHe T 39N I g AfeIe Fe

DA, B3RD

2 A, c3RD

3)B,C3RD

YB3RD
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Ques # :141

The short run factors which affects the marginal efficiency of capital in a private enterprise economy are :
1) Agriculture development

2) State of business confidence

3) Rate of Growth of pupolation

4) Industrial Development

Jreqeter 7 TSt 36T rdegaeyr # et 7 @ i A1 veF Gl A drea scureaar w1 yenfaa
*'F{?IT%:

D &y e

2) coaarat # faeara H fufa

Ques # :142

W. J. Baumol Theory of the demand for money states that the relationship between transaction demand for
cash and rate of interest is :

1) Direct proportional
2) Linear

3) Direct

4) Inverse

YA T HAT Y AT HT AT HT Y AT AT AT 3R ATl Y G F FoFaey I @ -
D) sezrat gt

2) Yl

3) ycaet

4) felH

Ques # :143

Tobins' approach to the demand for money assumes that :

1) Each investor hold only one asset

2) Diversifies his total wealth by putting partly in bonds and partly in cash
3) The element of uncertainity infuences the portfolio decisions of Investors
4) Holding entire income in form of cash involves risk of capital loss

SIS & FaT AT AT TRCHIOT A AT -

D) ue A3 ererdt e & gufed &I 3@ar g

2) 379 ol IRETTTaT o fafaer & & W § F© BT 978 TUT Ho At A
3) AR & ded A2 F FEaf 4R AT & wanfad eear §

4) FFOT 3T Y ARG H T F WA TR Y @111 T SAIH ghelr &

Ques # :144

Firm's investment decisions depend on the following ratio, called Tobin's q is as :
1) q = market value of inputs / market value of commodities

2) q = market value of capital stock / replacement cost of capital

3) q = market value of commodities / market value of inputs

4) q =replacement cost of capital / market value of capital stock
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wHt &1 fder i et st o fsit #tar & St #8a § e # ( Tobin's q) §
1) q = 31rerdt &1 ATeIR 7o / a3 1 IR Fea
2) q = Ui Tt T ST Hedr / Goft T TFaeTd SmeTd
3) q = TE3H T AR Hed / TN T TR Hed
4) q = Gl Y IFATATIST ST / it FeTeh T ST Hed

Ques # :145

' Hedonic Price ' method of evaluating environmental assets is :

1) Using Linkages between variations in house prices and geographical proximity to an enviornment asset
2) Using travel cost to estimate value of enviornmental asset

3) Using shadow prices to estimate value of environmental asset

4) Using nominal prices to value an environmental asset

YATaROT §Fdfed Hedidet 1§81t ( Hedonic ) Hed Aforg :

D) ek g 3 39191 @R o) Y HreAct 7 Bestar 3R gaiaroer ol r sitanfaes Heear

2) afageT SITaTe T 39T, GHTEROT IRTUTS 3 HedT Hediehst & fow
3) AT AT FHT 3TN, THTGR0T IRTITS F Hed Hedih & fow
4) HeTdd AT T 3UINT, TR0 IRAUFA & Hed Hediche & fow

Ques # :146

Upper portion of kinked demand curve will be :
1) Inelastic

2) Elastic

3) Perfectly inelastic

4) Perfectly elastic

fas e #Ater g &1 3 R ghom -
D) eirrer

2) A=IeR

3) qoiaar Jelraer

4) qoTerT eiraer

Ques # :147

Multiplier without time lag between the receipt of income and its disposal in the form of consumption is known

as:
1) Instantaneous multiplier

2) Static multiplier

3) Comparative static multiplier
4) Dynamic multiplier

3T e e fer oy 3farer & 36 39T 7 aRacier aver o1 Y fore A7 @ T ST B -

1) areemrforen IUTeh

2) ¥fae apore

3) Fetettersr T uTeh
4) yrafares ot

Ques # :148
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Ifthe value of o = 06 and 3 = 2 then the effect

of super multiplier will be in the form of :

1)  Explosive cycle

2)  Damped cycle

3)  Regular cycle

4)  Ever increasing cycle

aie 00=063R P =2 A & ar R IoF &
grg g ®9 & glEm ?

D faewes o

D) 3igwEfed T

3 afAdas

4)  gAAT T g3 T

Ques # :149

Which of the following is not a assumption of Mundel - Flaming model ?
1) Taxes and savings increases with income

2) The balance of trade depends only on income and the exchange rate

3) Supply of domestic output is perfectly elastic

4) Existing exchange rates are expected to persist indefinately.

et 7 @ Fie W ATar AU - wAHT AST frAF R 2

D) 31y & arer Y vd At # gy @i g

2) MR HeJeleT Hael 31 U4 fafasa g ) faR aear &

3) B 3euneet 1 gfef qoiear draer §

1) gafad RfHT X F fARTIST dh I TEoT T GHTAT &

Ques # :150

Which of the followin is not a property of steady state growth ?
1) Substitution between capital and labour is not possible

2) Labour force grows at exponential rate

3) There is no technical progress

4) Capital output ratio is given

frafaf@a & ¥ sl Pux sravyr e i Rdvar a8 8 2
D) g3h va s & o wfaearae dea 78 €

2) 23 A A AT 3T & F TG &

3) Fehstehr FaTfeY oTET &

) Gft euTe; 3regarel AT g3 ¥
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